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Answer for selected Problems

2. E[X2] = λ(λ+ 1), V ar(X) = λ2, E[X3] = λ3 + 3λ2 + λ.

5. 81.86%

6. µ = 2.464, σ = 0.0346

8. P = (β−α)2

β2

9. fY (y) =

{(
n
y

)β(a+y,n−y+b)
β(a,b) , y ∈ {0, 1, . . . , n}

0, y /∈ {0, 1, . . . , n}

10. P (Y ≥ 200/X = 99) = P (Y≥200,X=99)
P (X=99)

11. 0.74

12. (a) 1+e−0.06

2 (b) (i) 0.97 (ii) 0.02

13. 3e4

1+3e4 = 0.994.

14. 0.75, 0.5.

15. fY (y) =

{
e−y, y ≥ 0

0, otherwise.

16. 2.188
14

20. (a) X follows Poisson(µ).

(b) e−4
∑7

i=1
4i

i! .

21. P (X > X2) =

{
1/a, a ≥ 1

1, a ≤ 1.

22. fY (y) =

{
2λe−λy2/3

3y2/3 , y > 0

0, y ≤ 0.

25. ϕ(
√
2) = 0.92.

26. 0.383.

27. 0.18.
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